Final Exam; F4360; 11:00 Class; Spring, 1999


Name ______________________________

1.  Suppose MP3-Time-Warner.com Inc. has just implemented an EVA bonus system in which all divisions will use the entire firm’s weighted average cost of capital in determining each division’s capital charge.  Discuss how such a system affects the incentive for management in divisions that are riskier than the company as a whole and that are less risky than the company as a whole to invest less or more than is optimal from a wealth maximization perspective.

Use the following information to answer questions 2 and 3.

Soon after MP3-Time-Warner.com Inc. implemented the EVA bonus system, MP3 decided to try to increase the company’s EVA by reducing its capital charge.  Management attempted to accomplish this by issuing a large amount of debt and using the proceeds to repurchase shares of common stock.  In justifying this action, management has stated that the after-tax cost of debt is less than the cost of equity and that by increasing the proportion of the firm’s assets funded by debt, the firm’s capital charge will fall.

2.  Discuss how ignoring financial distress costs may have lead management to undertake too much debt.

3.  How would you use ratios to help determine whether MP3 has too much debt?  Be as specific as possible.

Use the following information to answer questions 4 through 6

MP3-Time-Warner.com Inc. is considering building a new CD stamping facility in Waco.  The construction costs associated with this facility would equal $30 million today and $40 million three months from today.  The first net cash flow from this facility would equal $2.5 million six months from today.  Cash flows from operating the CD plant would increase by 2.75% per quarter through 10 years from today.  MP3 estimates that the standard deviation of returns on MP3 as a whole is 22%, on the new plant is 28%, and on the stock market is 25%.  MP3 estimates that the correlation between the plant and MP3 is 0.75, between MP3 and the market is 0.63, and between the plant and the market is 0.83.  If the plant is successful, it can be expanded any time during the next 3 years at a cost of $25 million.  This expansion would produce cash flows through 10 years from today.  The expected present value today of these cash flows from the expansion is $30 million.  The standard deviation of returns on this expansion would be 18% and would have a correlation with the new plant being considered of 0.96.  The return on a 1-month T-bill is 4.51% per year compounded continuously, on a 3-year Treasury strip is 5.26% per year compounded continuously, and on a 10-year Treasury strip is 5.75%.  The expected return on the market is 12.85%.

4.  What rate should MP3 use in deciding whether or not to build the plant?

5.  Ignoring the impact of the possible expansion, what impact will the project have on the value of the firm if it is undertaken?

6.  What impact does the possible expansion of the plant have on the value of the project to MP3?

7.  You are trying to convince the CFO of MP3 that it should halt its regular quarterly dividend payments and begin to repurchase shares by issuing transferable put rights.  What benefits of such an action should you mention to the CFO?

8.  The CEO of MP3-Time-Warner.com Inc., Michael Robertson, currently owns $850 million of stock in the company.  Michael Robertson’s financial adviser has suggested that Mr. Robertson sell some of his stock in MP3 in order to become more diversified.  Using a graph, demonstrate and discuss how Mr. Robertson would be better off using the proceeds from selling some of his MP3 shares to invest in Ford Motor Company (with a correlation to MP3 of 0.62) rather than in Atlantic Records Inc. (with a correlation to MP3 of 0.94).  In either case, Mr. Robertson will also use some of the proceeds of the sale of MP3 stock to invest in U.S. Treasuries.  Assume that Ford and Atlantic have the same expected return and risk.







